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Algebra 2
Handout 5.7 (day 3)

Writing a Quadratic Equation in Vertex
form using Completing the Square
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The montrom the sales of rugs woven by a family
rug-making business depends on #1€ price Tthat they charge for
arug. The profit is modeled byP = —r* + 5007 — 59,500 . Write the
function in vertex form. What is the maximum monthly profit,
in dollars, determined by this model? (— , P D
(Pri<ce , Profi+)
P=-r%*4sw0r- 59,300
159,500 X 54,900
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12. Use the vertex form to find the vertex of

P= _lrz +2807—1200 . Does the vertex represent

a’maximum value or minimum value.
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